1180 Hanh Miz Roox Leeux
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ramx Seeus seeus xeeh ndaix seeus mengz xez laez xaaux lail leeux bool saangl saangl xeeh ndaix saangl

5 8 5 8 2 |8---|5 6 5 8 2 |[Y---|1 1.8 2 1 |2---|
mengz xez laez xaaux jeed deeuz sangl goc dauc hanh weangz rauz qyuh xez laez xaaux sangl leeux
a N

5. 6 5 3 2 |12 38 - |5 6 2 1. 7| 6 - - - |
Yeec suc jic duc jaiz rauz laail hanh deel miz TOOX leeux

6 3 38 3 2|38 8 2 38 - |5 38 5 8 2 |8 - - - |
dauc hoh rauz leeux boz bux gaml fengz bux hanh weangz hoh rauz Yeec suc

~ 6
3 6 6 6|616 5 3 -|/5 383 5 3 2 |[8---|5 6 5 8 2 [Y---]
dauc hoh rauz sangl goc dungx diaul huh hanh weangz hoh rauz Yeec suc  sangl gocdauc hanhweangz rauz
N N
{1 s 2 1 |2---|5 6 5 s 2 |2 8-]5 6 2 idle---|

qvuh xez laez xaaux sangl leeux Yeec suc jic duc jaiz rauz laail hanh deel miz roox leeux



